
   

Exercice 1 

 

Exercice 2 

1/  

2/  

Exercice 3 
1/  

2/  

Exercice 4 

 

Exercice 5 
 

Exercice 6 
1/   

2/  

Fiche exercice : Concentration en masse (Cm) - Correction

Cm( sucre) =
m( sucre)
Vsolution

=
5,0g

250 mL
=

5,0g
0,250 L

= 20 g/L

Cm(p . actif) =
m(p . actif)

Vmed.
=

0,21 g
100 mL

=
0,21 g

0,100 L
= 2,1 g/L

ρ(med.) =
m(med.)

Vmed.
=

113 g
100 mL

=
113 g

0,100 L
= 1130 g/L

m(ChlorP) = Cm(ChlorP) × Vsol = 4,2 g/L × 200 mL = 4,2 g/L × 0,200 L = 0,84 g

Vsolution =
m( ChlorP)
Cm(ChlorP)

=
1,0 kg

4,2 g/L
=

1000 g
4,2 g/L

= 238 L

Cm(permP) =
m(permP)

Vsolution
=

1 mg
100 mL

=
0,001 g
0,100 L

= 0,01 g/L

m(gluc.) = Cm(gluc.) × Vsol = 2,5 g/L × 100 mL = 2,5 g/L × 0,100 L = 0,25 g

m(sel) = Cm(sel) × Vsol = 9,8 g/L × 380 mL = 9,8 g/L × 0,380 L = 3,7 g

ρ(soupe) =
m(soupe)

V med.
=

408 g
380 mL

=
0,408 kg
0,380 L

= 1,07 kg/L

Concentration en masse - Phychiers


